e
r e l"

e
F
dENaN 8

press M'” rTTIEBRAE RS
- 1N =

.'I FNANN.AWE. AW,

Apantepbl ORFS

Crtpanuua / Page 3 4 4
() W
ORFS ] ORFS _ (LI
Nut il Sleeve d
6010 6015 6020
ORFS Nut Sleeve Braze Sleeve
CrpaHuua / Page 5 5 6 6

p— —_— ‘_!L
male i rss, = = | =

6000 6300 6350 6550
Union 90°Elbow Union Union Tee Cross Union
ORFS ORFS ORFS ORFS
CrpaHuua / Page 7 8 8 9 9

10

Swivel

ORFS F. E_?Ji“ i H ‘—}_I| ‘.TJL__ 0/} i“ i . 1‘ _1 _{H

6056 6055

6205 6255
Reducing

6620 6630
Swivel Nut Elbow

Swivel Nut Run Tee

Swivel Nut Female

Swivel 45° Nut Elbow Swivel Nut Branch Tee
F ORFS x M ORFS F ORFS x M ORFS F ORFS x M ORFS

F ORFS x M ORFS ORFS ORFS
CrpaHuua / Page 10 1 1 12 12
I "’ V"
ORFS J" | — N F !l! e —
ORFS .-_--_-.-_--_- --_..__.._._ {]] \‘" ., -__...-.- E ; T 1 ; | [
bulkhead M Tiopmemyey e LB ' o l'.
6050 6510 6520 6500 6490
Bulkhead Union Bulkhead Union Elbow Bulkhead 45° Union Elb. Run Tee Connector Bulkhead Branch Tee
ORFS ORFS ORFS ORFS Bulkhead ORFS
Crpanuua / Page 13 13 14 14 15 15
y BT pf— @
UNF ] . o — <
+ — ™ | fE—
== " i
6150 6100 6120 6200 6950 6250
Bulkhead Connector Male Connector Swivel Nut female 90° Elbow Connector ~ Long Adjustable Elbow  45° Elbow Connector
M UNF x M ORFS M UNF x M ORFS F ORFS x M UNF UNF Orientable M ORFS x M UNF UNF Orientable
CrpaHuua / Page 16 16 17 17
UNF ORFS I ores i
ORFS BSPT —i.] NPTF —L
6400 6450 6820 6830
Branch Tee Connector Run Tee Connector Male Connector Male Connector
UNF Orientable UNF Orientable M ORFS x M BSPT M ORFS x M NPTF
Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-G



FITIR By » ] - .', ++¢ I N T N .T. |
e ‘me M." THER o)

.=

Apantepbl ORFS

Crpanuua / Page 18 19 19 20 21 22

ORFS (T ﬁlzj] _Hﬁ. ‘rf _.Ei 2 f‘“ -2 |

B oM ] e B if= L,

6036 6800 6810 6215 6260 6340
Swivel Nut Female Male Connector Male Connector Adjustable Elbow Adjustable 45° Elbow  Adj. Elb. with swivel nut
F ORFS x MBSP or (ED) M ORFS x M BSP or M ORFS x M BSP M BSP x M ORFS M ORFS x M BSP M ORFS x M BSP

CrtpaHnuua / Page

ORFS -(__—* m— N == ORFS i

6460 6410 6125
Adjustable Run Tee Adjustable Branch Tee Swivel Nut Female
ORFS - ORFS - BSP ORFS - BSP - ORFS F ORFS x M JIC

ORFS i r—im

METRIC e d1iEL:
P =
6900 6920 6320 6940 6270
Male Connector Long Male Connector Adjustable Elbow Long Adjustable Elbow Adjustable 45° Elbow
M ORFS x M Metric M ORFS x M Metric M ORFS x M Metric M ORFS x M Metric M ORFS x M Metric

CrpaHuua / Page 27 27 28 29 29

ORES g m ow o m W ores mi (i
METRIC I—r—-[' ) = T e Plug i lm
: N i . | I,

6420 6470 6840 6600 6610

Adjustable Branch Tee Adjustable Run Tee Male Connector ORFS ORFS Male Plug ORFS Female Plug
ORFS - Metric - ORFS  ORFS - ORFS - Metric Metric (1ISO 6149-2)

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

2-G



ik ypress [/ L Y ]| Tl MM

6010

Manka ORFS

ORFS nut

ot | | e ]
mm———-_—

6010-06 9/16 - 18 15,0 19
_--____
6010-11 12 13/16 - 16
_--____
6010-14 18-20 3/4" 1.3/16 - 12
_--____
6010-21 30-32 1.1/4" 1.11/16 - 12

Fluid Power Care 3-G

IMM Group



ik ypress [/ L Y ]| Tl MM

6015

Konbuo meTpuyeckoe

. ()} |
Metric sleeve

L

tub
m-

IIIIEIIIIIIIIIIIIIIIIIIIJIIIIIIIIIIIII
6015-06
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

6015-10

6020

6015-14

6015-16

6015-20

6015-25

6015-30

OﬂOpHaﬂ rosioBKa

Shoulder
raribBaHU4ecKoe NnokKpbiTue: 6e3 OLMHKOBKM
surface treatment: without zinc plating

tub
m-

IIIIEIIIIIIIIIIIIIIIIIIIJIIIIIIIIIIIII
6020-06
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

6020-10

6020-14

6020-16

6020-20

6020-25

6020-30 5,5

Fluid Power Care

IMM Group



ik ypress [/ L Y ]| Tl MM

6000 KoHHeKTOp HapyXHas pe3bba

Male connector

* - F1 1 C1 oTHOCSITCA TOMbKO K NepexoaHbIM pa3mepam
*- F1 and C1 are for jump size only

m-
mm--z---l:—

6000-06 1/4" 9/16 - 18 27

6000-11 12 1/2" 13/16 - 16

6000-13 14-16 5/8" 1-14 43 16 -

6000-14 18-20 3/4" 1.3/16 - 12

6000-15 1" 1.7/16 - 12 49 18 S

6000-21 30-32 1.1/4"  1.11/16-12 - 51 18 -

6300 KoHHekTOp 90°

90° Elbow Union

£
ot | | e ]
mm-—-z--_—
6300-06 1/4" 9/16 - 18 22
_--_____
6300-11 1/2" 13/16 - 16
_--_____
6300-14 18-20 3/4" 1.3/16 - 12
_--_____
6300-21 30-32 1.1/4"  1.11/16-12

Fluid Power Care 5-G IMM Group



Il imimm.

6350 Tpo#Huk

Union Tee

i | | e ]
| mm | gnch | __F | __c [ B [ E [
10 14

6350-06 6 1/4" 9/16 - 18 22

6350-09 8-10 5/16"-3/8" 11/16-16 25 11 19
6350-11 12 1/2" 13/16 - 16 28 13 19
6350-13 14-16 5/8" 1-14 34 16 27
6350-14 18-20 3/4" 1.3/16 - 12 38 17 33
6350-15 25 1" 1.7/16 - 12 42 18 41
6350-21 30-32 1.1/4"  1.11/16-12 45 18 41
6350-32 38 1.1/2" 2-12 49 18 48

6550  X-06pa3Hblit KOHHEKTOf

Cross Union

e N U
| mm | gnch | __F | __c | B [ E [
6 10 14

6550-06 1/4" 9/16 - 18 22

6550-09 8-10 5/16"-3/8" 11/16-16 25 11 19
6550-11 12 1/2" 13/16 - 16 28 13 19
6550-13 14-16 5/8" 1-14 33 16 27
6550-14 18-20 3/4" 1.3/16 - 12 37 17 30
6550-15 25 1" 1.7/16 - 12 42 18 37
6550-21 30-32 1.1/4"  1.11/16-12 45 18 41
6550-32 38 1.1/2" 2-12 49 18 48




ik ypress [/ L Y ]| Tl MM

6056

PeAyKUMOHHbIN KOHHEKTOp ranMKa-wTyue

Reducing male - female ORFS

m-
mm-—--_—

6056-09-06 10-06  3/8"-1/4" 11/16™-16  9/16""-18 -

6056-11-09 12-10  1/2"-3/8" 13/16™-16  11/16"-16 -

6056-13-09 16-08 5/8"-5/16" 1"-14 11/16"™-16 24 -

6056-14-06 20-06  3/4"-1/4" 1.3/16"™-12  9/16"™-18 25 -

6056-14-11 20-12  3/4"-1/2" 1.3/16"™-12 13/16™-12

6056-15-11 25-12 1"1/2"  1.7/16™-12  13/16"-12 29 -

6056-15-14 25-20 1"-3/4"  1.7/16™-12 1.3/16"-12 -

6056-21-15 32-25  1-1"1/4" 1.11/16"™-12 1.7/16"-12 -

6056-32-21 38-32  "1/2"-1"1/4 2"-12 1.11/16"-12 34 -

Fluid Power Care

IMM Group



i ypress || lll MM

6055

6205

KoHHekTOp ramka-wtyuep ORFS

Swivel Union M/F ORFS

e N R
IﬂﬂﬂlﬂﬂllllillIIIII“[IIIIIIIE“IIIII

6055-06 1/4" 9/16"-18 9/16"-18 10
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6055-11 12 1/2" 13/16"-16  13/16"-16 13
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6055-14 18-20 3/4" 1.3/16"-12  1.3/16"-12 17
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6055-21 30-32 1.1/4"  1.11/16"-12 1.11/16"-12 18 48

KoHHekTop 90° ranka-wrtyuep ORFS -

Swivel Nut Elbow M/F ORFS

e N N
IlﬂﬂlIﬂﬂﬂllllillIIIIIIIEIIIIIEIIEIIIIIII

6205-06 1/4" 9/16"-18 9/16"-18 22 271 14
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII"IIIIIIIIII
6205-11 1/2" 13/16"-16  13/16"-16 28 38 19 24
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII"IIIIIIIIII
6205-14 18-20 3/4" 1.3/16"-12  1.3/16"-12 38 47
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII"IIIIIIIIII
6205-21 30-32 1.1/4"  1.11/16"-12 1.11/16"-12 45 58 41

Fluid Power Care 8-G IMM Group



6255

6620

KoHHekTOp 45° ranka-wrtyuep ORFS

Swivel 45° Nut Elbow M/F ORFS

6255-06
6255-09
6255-11
6255-13
6255-14
6255-15
6255-21
6255-32

TponHuk 6okoBas ramka

Female run tee

6620-06
6620-09
6620-11
6620-13
6620-14
6620-15
6620-21
6620-32

6
8-10
12
14-16
18-20
25
30-32
38

6
8-10
12
14-16
18-20
25
30-32
38

1/4"
5/16"-3/8"
172"
5/8"
3/4"
"
1.1/4"
1.1/72"

1/4"
5/16"-3/8"
12"
5/8"
3/4"

1
1.1/4"
1.1/72"

9/16"-18
11/16"-16
13/16"-16

1"-14
1.3/16"-12
1.7/16"-12

1.11/16"-12

2"-12

9/16"-18
11/16"-16
13/16"-16

1"-14
1.3/16"-12
1.7/16"-12

1.11/16"-12

2"-12

9/16" 18
11/16"-16
13/16"-16
1"-14
1.3/16"-12
1.7/16"-12
1.11/16"-12
2"-12

9/16" 18
11/16"-16
13/16"-16
1"-14
1.3/16"-12
1.7/16"-12
1.11/16"-12
2"-12

16
19
21
24
26
30
32
37

22
25
28
34
38
42
45
49

27
31
37
42
47
47
49

1 9
19
27
30
37
Y
48

22
24
30
36
41
50
60

29
38
41
47
54
58
61

1 9
19
27
30
37
Y
48

22
24
30
36
41
50
60




i ypress || lll MM

6630

TpPOMHMK HNXKHAA ranka

Female branch tee

6050

e N R
IlﬂﬂlIEE!IIIIIIIIIIIIIIEIIIIIEIIEIIIIIII

6630-06 1/4" 9/16"-18 9/16"-18 22 271 14
IIIIIIIIIIIIlllllIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6630-11 1/2" 13/16"-16  13/16"-16 28 38 19 24
IIIIIIIIIIIIlllllIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6630-14 18-20 3/4" 1.3/16"-12  1.3/16"-12 38 47
IIIIIIIIIIIIlllllIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6630-21 30-32 1.1/4"  1.11/16"-12 1.11/16"-12 45 Y

KoHTpranka

Bulkhead

part number

6050-06 9/16 - 18
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6050-11 13/16 - 16 22
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6050-14 1.3/16 - 12 42 32 41
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
6050-21 1.11/16 - 12 42 46

Fluid Power Care

10-G

IMM Group



itk ypress ||} R LYY | 1T,

6510  nepeGopouHklit aganTep 90°

Bulkhead 90° Elbow Union

e N N
mm-_ﬂ-ﬂlll_

6510-06 1/4" 9/16"-18 9/16"-18 23 47
_--__----_
6510-11 1/2" 13/16"-16  13/16"-16 29 56 30 19
_--__----_
6510-14 18-20 3/4" 1.3/16"-12  1.3/16"-12 39 67 41
_--__----_
6510-21 30-32 1.1/4"  1.11/16"-12 1.11/16"-12 46 76

6520 nepeGopouHblit aganTep 45°

Bulkhead 45° Elbow Union

ot | | e |
mm-_ﬂ-ﬂlll_

6520-06 1/4" 9/16"-18 9/16"-18 47 23 22
_--__----_
6520-11 1/2" 13/16"-16  13/16"-16 56 29
_--__----_
6520-14 18-20 3/4" 1.3/16"-12  1.3/16"-12 67 39 41
_--__----_
6520-21 30-32 1.1/4"  1.11/16"-12 1.11/16"-12 76 46

Fluid Power Care 1-G IMM Group



LU
[ 1]]

ainlMmM.

6500

6490

TponHUK nepebopoOYHbIN
HapyXHble pe3b0bbl 6oKOBOE
noacoeanHeHue

Bulkhead male run tee

i | | e ]
IlﬂﬂllﬁﬂﬂllllillIIIIIIIIIIEIIEIIEIIEIIII

6500-06 6 1/4" 9/16 - 18
6500-09 8-10  5/16"-3/8" 11/16-16
6500-11 12 1/2" 13/16 - 16
6500-13 14-16 5/8" 1-14
6500-14 18-20 3/4" 1.3/16 - 12
6500-15 25 1" 1.7/16 - 12
6500-21 30-32 1.1/4"  1.11/16-12
6500-32 38 1.1/2" 2-12

TponHMK nepebopoYHbIN
HapyXHble pe3b0bbl HNXKHee
noagcoeAuHeHue

Bulkhead male Branch tee

10
11
13
16
17
18
18
18

34
37
Y
42
42
42
42

25
28
33
37
42
45
49

27
30
36
41
46
50
60

19
19
27
30
37
41
48

ot | | e ]
IlﬂﬂllﬁﬂﬂllllillIIIIIIIEIIIIIEIIIIHIIIII

6490-06 1/4" 9/16"-18
6490-09 8-10  5/16"-3/8" 11/16"-16
6490-11 12 1/2" 13/16"-16
6490-13 14-16 5/8" 1"-14
6490-14 18-20 3/4" 1.3/16"-12
6490-15 25 1" 1.7/16"-12
6490-21 30-32 1.1/4"  1.11/16"-12
6490-32 38 1.1/2" 2"-12

9/16"-18
11/16"-16
13/16"-16

1"-14
1.3/16"-12
1.7/16"-12

1.11/16"-12

2"-12

26
29
35
39
43
46
50

52
56
63
67
71
76
80

27
30
36
41
46
50
60

19
19
27
30
37
41
48

12-G



LU
[ 1]]

ainlMmM.

6150

6100

Mpsimoe nepebopoyHoe coeguHeHne UNF X

Straight bulkhead UNF male X ORFS male

6150-04-06
6150-06-09
6150-08-11
6150-10-13
6150-12-14
6150-16-15
6150-20-21
6150-24-32

KoHHekTop UNF X ORFS

6
8-10
12
14-16
18-20
25
30-32
38

114"
5/16"-3/8"
112"
5/8"
3/4"

e
1.1/4"
1.472"

UNF male X ORFS male connector

6100-04-06
6100-06-06
6100-06-09
6100-08-11
6100-10-09
6100-10-13
6100-10-14
6100-12-14
6100-12-15
6100-16-14
6100-16-15
6100-20-15
6100-20-21
6100-24-32

8-10
8-10
12
8-10
14-16
18-20
18-20
25
18-20
25
25
30-32
38

114"
5/16"-3/8"
5/16"-3/8"
112"
5/16"-3/8"
5/8"
3/4"
3/4"
-
3/4"
-
4
1.1/4"
1.472"

7/16 20
9/16 - 18
3/4-16
7/8-14
1.1/16 - 12
1.5/16 - 12
1.5/8 - 12
1.7/8 - 12

7/16 - 20
9/16 - 18
9/16 - 18
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16 - 12
1.1/16 - 12
1.5/16 - 12
1.5/16 - 12
1.5/8 - 12
1.5/8 - 12
1.7/8 - 12

9/16 - 18
11/16 - 16
13/16 - 16
1-14
1.3/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

9/16 18
9/16 - 18
11/16 - 16
13/16 - 16
11/16 - 16
1-14
1.3/16 - 12
1.3/16 - 12
1.7/16 - 12
1.3/16 - 12
1.7/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

32
34
37
Y
42
42
42
42

10
11
13
11
16
17
17
18
17
18
18
18
18

54
60
67
71
71
71
71

31
32
37
39
43
51
49
54
50
50
52
52
54

12
14
16
19
19
19
19

19 27
22 30
27 36
32 41
38 46
46 50
55 60
L -
ES S, - o
(.
i nxw;l I
E

12
12
14
16
16
13
19
19
19
19
19
19
19

1 9
19
22
27
27
32
32
38
38
38
46
46
55

13-G



LU
all

ainlMmM.

6120

6200

Bpawatrowmincsa koHHektop ORFS/UNF

Swivel Nut Female ORFS/UNF

6120-04-06
6120-04-09
6120-06-09
6120-08-09
6120-08-11
6120-08-13
6120-10-11
6120-10-13
6120-10-14
6120-12-13
6120-12-14
6120-16-14
6120-16-15
6120-20-21
6120-24-32

6
8-10
8-10
8-10

12
14-16
12
14-16
18-20
14-16
18-20
18-20
25
30-32
38

114"
5/16"-3/8"
5/16"-3/8
5/16"-3/8"
112"
5/8"
112"
5/8"
3/4"
5/8"
3/4"
34
=
1.1/4"
1.472"

9/16"-18
11/16"-16
11/16"-16
11/16"-16
13/16"-16

1"-14
13/16"-16
1"-14
1.3/16"-12
1"-14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.11/16"-12
2"-12

7/16 20
7/16-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

11
12
14
14
14
16
16
16
19
19
19
19
19
19

Perynupyembin koHHekTOp 90° ORFS/UNF

90° elbow "adjustable" connector ORFS male X

UNF male

6200-04-06
6200-06-06
6200-06-09
6200-08-11
6200-10-13
6200-12-14
6200-16-15
6200-20-21
6200-24-32

6

6
8-10

12
14-16
18-20

25
30-32

38

114"
114"
5/16"-3/8
112"
5/8"
34
=
1.1/4"
1.472"

7/16 20
9/16 - 18
9/16 - 18
3/4-16
7/8-14
1.1/16 - 12
1.5/16 - 12
1.5/8 - 12
1.7/8 - 12

9/16 - 18
9/16 - 18
11/16 - 16
13/16 - 16
1-14
1.3/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

22
23
25
28
33
37
42
45
49

—|

37
37
41
50
55
60
62
66

1 9
19
22
22
27
27
27
32
32
32
38
38
50
55

12
12
14
16
19
19
19
19

0

22
22
22
24
30
24
30
36
30
36
36
41
50
60

17
19
22
27
32
38
46
55

19
19
19
27
30
37
41
48

- |

14 -G



L]

all

ainlMmM.

6950

6250

Perynupyembin KOHHekTOp 90°
ORFS/UNF, yanuHeHHbIN

Long Adjustale Elbow ORFS/UNF

6950-04-06
6950-04-09
6950-06-09
6950-08-09
6950-08-11
6950-08-13
6950-10-11
6950-10-13
6950-10-14
6950-12-13
6950-12-14
6950-16-14
6950-16-15
6950-20-21
6950-24-32

6
8-10
8-10
8-10

12
14-16
12
14-16
18-20
14-16
18-20
18-20
25
30-32
38

114"
5/16"-3/8"
5/16"-3/8"
5/16"-3/8"
112"
5/8"
112"
5/8"
3/4"
5/8"
3/4"
3/4"
=
1.1/4"
1.472"

9/16"-18
11/16"-16
11/16"-16
11/16"-16
13/16"-16

1"-14
13/16"-16
1"-14
1.3/16"-12
1"-14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.11/16"-12
2"-12

7/16 20
7/16-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

25
25
27
28
34
31
34
36
38
Y
42
45
49

Perynupyembin koHHekTOp 45° ORFS/UNF

45° elbow "adjustable” connector ORFS male X

UNF male

6250-04-06
6250-06-09
6250-08-11
6250-10-13
6250-12-14
6250-16-15
6250-20-21
6250-24-32

6
8-10
12
14-16
18-20
25
30-32
38

1/4"
5/16"-3/8"
172"
5/8"
3/4"

1
1.1/4"
1.1/72"

7/16 20
9/16 - 18
3/4-16
7/8-14
1.1/16 - 12
1.5/16 - 12
1.5/8 - 12
1.7/8 - 12

9/16 - 18
11/16 - 16
13/16 - 16
1-14
1.3/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

16
19
20
23
26
30
32
37

67
75
75

89
89

101
101
115
115
127
139

33
36
45
50
52
54
54

16
19
24
24
24
27
27
27
36
36
Y
Y
50
55

19
19
19
19
27
27
27
30
30
30
37
37
Y
48

12
13
14
17
17
17
17

1 9
22
27
32
38
46
55

19
19
27
30
37
41
48

15-G



LU
[ 1]]

ainlMmM.

6400

6450

TpouHuk perynupyembin UNF HapyXxHbie pe:

Adjustable UNF male branch Tee

6400-04-06
6400-06-09
6400-08-11
6400-10-13
6400-12-14
6400-16-15
6400-20-21
6400-24-32

TpounHuk perynupyembin UNF HapyXHblI¢

6
8-10
12
14-16
18-20
25
30-32
38

114"
5/16"-3/8"
112"
5/8"
3/4"

e
1.1/4"
1.472"

Adjustable UNF male run Tee

6450-04-06
6450-06-09
6450-08-11
6450-10-13
6450-12-14
6450-16-15
6450-20-21
6450-24-32

8-10
12
14-16
18-20
25
30-32
38

1/4"
5/16"-3/8"
12"
5/8"
3/4"

1
1.1/4"
1.1/72"

7/16 20
9/16 - 18
3/4-16
7/8-14
1.1/16 - 12
1.5/16 - 12
1.5/8 - 12
1.7/8 - 12

7/16 20
9/16 - 18
3/4-16
7/8-14
1.1/16 - 12
1.5/16 - 12
1.5/8 - 12
1.7/8 - 12

9/16 - 18
11/16 - 16
13/16 - 16
1-14
1.3/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

9/16 - 18
11/16 - 16
13/16 - 16
1-14
1.3/16 - 12
1.7/16 - 12
1.11/16 - 12
2-12

10
11
13
16
17
18
18
18

11
13
16
17
18
18
18

25
28
33
37
42
45
49

37
41
50
55
60
62
66

1 9
22
27
32
38
46
55

19
19
27
30
37
41
48

25
28
33
37
42
45
49

37
41
50
55
60
62
66

1 9
22
27
32
38
46
55

19
19
27
30
37
41
48

16 -G



FIZTIR Ry

Jliigd y/press ".

L1
ali

ainlMmM.

6820

6830

KoHHekTOp ORFS/BSPT

Male Connector ORFS/BSPT

6820-02-06 1/4"
6820-04-06 6 1/4"
6820-04-09 8-10 5/16"-3/8"
6820-04-11 12 1/2"
6820-06-09 8-10 5/16"-3/8"
6820-06-11 12 172"
6820-06-13 14-16 5/8"
6820-08-11 12 172"
6820-08-13 14-16 5/8"
6820-08-14 18-20 3/4"
6820-12-13 14-16 5/8"
6820-12-14 18-20 3/4"
6820-12-15 25 1"
6820-16-14 18-20 3/4"
6820-16-15 25 1"
6820-16-21 30-32 1.1/4"
6820-20-21 30-32 1.1/4"
6820-20-32 38 1.4/2"
6820-24-32 38 1.1/2"

KoHHekTOop ORFS/NPTF

Male Connector ORFS/NPTF

6830-02-06
6830-04-06
6830-04-09
6830-04-11
6830-06-09
6830-06-11
6830-06-13
6830-08-11
6830-08-13
6830-08-14
6830-12-13
6830-12-14
6830-12-15
6830-16-14
6830-16-15
6830-16-21
6830-20-21
6830-20-32
6830-24-32

6
6
8-10
12
8-10
12
14-16
12
14-16
18-20
14-16
18-20
25
18-20
25
30-32
30-32
38
38

114"
114"
5/16"-3/8"
112"
5/16"-3/8"
112"
5/8"
112"
5/8"
3/4"
5/8"
3/4"
=
3/4"
=
1.4/4"
1.1/4"
1.472"
1.472"

9/16™-18
911618
11/16™-16
13/16™-16
11/16™-16
13/16™-16
1"-14
13/16™-16
1"-14
1.3/16™12
1"-14
1.3/16™12
1.7116"12
1.3/16™12
1.7116"12
1.11/16"12
1.11/16"12
212
212

9/16™-18
911618
11/16™-16
13/16™-16
11/16™-16
13/16™-16
1"-14
13/16™-16
1"-14
1.3/16™12
1"-14
1.3/16™12
1.7116"12
1.3/16™12
1.7116"12
1.11/16"12
1.11/16"12
212
212

1/8
1/4
1/4
1/4
3/8
3/8
3/8
12
1/2
12
3/4
3/4
3/4

1
1
1

1.1/4

1.1/4

1.1/2

1/8
1/4
1/4
1/4
3/8
3/8
3/8
12
1/2
12
3/4
3/4
3/4

1

1

1
1.1/4
1.1/4
1.1/2

15
15
15
15
15
15
19
19
19
19
19
19
24
24
24
25
25
25

15
15
15
15
15
15
19
19
19
19
19
19
24
24
24
25
25
25

10
11
13
11
13
16
13
16
17
16
17
18
17
18
18
18
18
18

10
11
13
11
13
16
13
16
17
16
17
18
17
18
18
18
18
18

33
34
36
34
36
40
42
45
48
47
48
49
54
54
56
56
58
59

33
34
36
34
36
40
42
45
48
47
48
49
54
54
56
56
58
59

16
19
22
19
22
27
22
27
32
27
23
38
36
38
46
46
55
55

16
19
22
19
22
27
22
27
32
27
23
38
36
38
46
46
55
55

17 -G



ik ypress [/ L Y ]| Tl MM

6036

KoHHekTOp wryuep-ranka ORFS/BSP l— —

'_i

Swivel Nut Female ORFS/BSP with "ED" seal (DIN 3852 form E) |

m-
mm-_--ﬂlll_

6036-02-06 1/4" 9/16"-18 1/8 26 34 17

6036-04-09 8-10  5/16"-3/8" 11/16"-16 1/4 28 40 22

6036-06-09 8-10  5/16"-3/8" 11/16"-16 3/8 28 40 22

6036-08-09 8-10  5/16"-3/8" 11/16"-16 12 42 22

6036-08-13  14-15-16  5/8" 1/2

52
_--__----_
54

6036-12-13  14-15-16  5/8" 3/4

6036-16-15 22-25 1" 1.7/16"-12 49 67 41

6036-24-32 35-38 1.1/2" 2"-12 1.1/2 50 72 60

Fluid Power Care

18-G

IMM Group



Il imimm.

6810

6800

KoHHekTop ORFS/BSP

KonHektop ORFS/BSP

6810-02-06
6810-04-09
6810-06-11
6810-08-13
6810-12-14
6810-16-15
6810-20-21
6810-24-32

KoHHekTop ORFS/BSP ynnotHutenbHoe

6
8-10
12
16
20
25
32
38

114"
5/16"-3/8"
112"
5/8"
3/4"

e
1.1/4"
1.472"

Male Connector ORFS/BSP O'Ring

9/16"-18
11/16"-16
13/16"-16

1"-14
1.3/16"-12
1.7/16"-12

1.11/16"-12

2"-12

1/8 28
1/4-19
3/8-19
1/2-14
3/4-11
1-11
1.1/4-11
1.1/2-11

11
13
16
17
18
18
18

11
12
14
16
19
20
22

31
35
41
46
51
54
58

1 9
22
27
32
38
46
55

B

6800-02-06
6800-04-06
6800-04-09
6800-04-11
6800-06-06
6800-06-09
6800-06-11
6800-06-13
6800-08-09
6800-08-11
6800-08-13
6800-08-14
6800-12-11
6800-12-13
6800-12-14
6800-12-15
6800-16-13
6800-16-14
6800-16-15
6800-16-21
6800-20-15
6800-20-21
6800-24-32

6
8-10
12
6
8-10
12
14-16
8-10
12
14-16
18-20
12
14-16
18-20
25
14-16
18-20
25
30-32
25
30-32
38

114"
114"
5/16"-3/8"
112"
114"
5/16"-3/8"
112"
5/8"
5/16"-3/8"
112"
5/8"
3/4"
112"
5/8"
3/4"
e
5/8"
3/4"
=
1.1/4"
=
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
13/16"-16
9/16"-18
11/16"-16
13/16"-16
1"14
11/16"-16
13/16"-16
1"14
1.3/16"-12
13/16"-16
1"14
1.3/16"-12
1.7/16"-12
1"14
1.3/16"-12
1.7/16"-12
1.11/16"-12
1.7/16"-12
1.11/16"-12
2"-12

1/8 28
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

12
12
12
12
12
12
11
14
14
15
14
16
15
15
16
18
18
18
18
20
20
22

10
11
13
10
11
13
16
11
13
16
17
13
16
17
18
16
17
18
18
18
18
18

31
32
36
31
32
34
37
35
37
40
47
41
44
45
50
48
48
48
55
52
52
56

19
19
22
24
24
24
27
27
27
30
32
36
36
36
38
41
41
41
46
50
50
60

19-G



ik ypress [/ L Y ]| Tl MM

6215

Perynupyembin koHHekTOp 90°
ORFS/BSP

Adjustable Elbow ORFS/BSP

e N R
mm_—n-nﬂ—

6215-02-06 1/4" 9/16"-18 1/8-28 22
_--__----_
6215-04-09 8-10  5/16"-3/8" 11/16"-16 1/4-19 25 19 19
_--__----_
6215-06-06 1/4" 9/16"-18 3/8-19 25 39 19 24
_--__----_
6215-06-11 12 1/2" 13/16"-16 3/8-19 28

6215-08-09 8-10  5/16"-3/8" 11/16"-16 1/2-14 30 49 27

6215-08-14 18-20 3/4" 1.3/16"-12 1/2-14 38 50 30 27

6215-12-11 12 172" 13/16"-16 3/4-11 34 52

6215-12-14 18-20 3/4" 1.3/16"-12 3/4-11 38 52

6215-16-14 18-20 3/4" 1.3/16"-12 1-11 41 59 37 41
6215-16-21 30-32 1.1/4"  1.11/16"-12 1-11 45 61 41

6215-20-21 30-32 1.1/4"  1.11/16"-12  1.1/4-11 45 61 41

Fluid Power Care

20-G

IMM Group



[TTE Ly press L’:lll mLmMm

6260

PerynupyeMbm KOHHEeKTOop 45°
ORFS/BSP
Adjustable 45° Elbow ORFS/BSP

p—ul
e N R
mm_—n-nﬂ—

6260-02-06 1/4" 9/16"-18 1/8-28 22

6260-04-09 8-10  5/16"-3/8" 11/16"-16 1/4-19 25 32 19 19

6260-06-06 14" 91618 3819 25 34 24
_--__----_
6260-06-11 12 12" 131616 3819 28 34 24

6260-08-09 8-10  5/16"-3/8" 11/16"-16 1/2-14 30 42

6260-08-14 18-20 3/4" 1.3/16"-12 1/2-14 38 46 27

6260-12-11 12 172" 13/16"-16 3/4-11 34 47

6260-12-14 18-20 3/4" 1.3/16"-12 3/4-11 38 47 36

6260-16-14 18-20 3/4" 1.3/16"-12 1-11 Y 41
6260-16-21 30-32 1.1/4"  1.11/16"-12 1-11 45 52 41

6260-20-21 30-32 1.1/4"  1.11/16"-12  1.1/4-11 45 52

Fluid Power Care

21-G

IMM Group



FTTInNe

Jliigd y/press ".

LU

all

ainlMmM.

6340

6460

Perynupyembin KOHHeKkTOp 90°
¢ HakugHou ramkon ORFS/BSP

Adjustable Elbow with Swivel Nut ORFS/BSP

6340-02-06
6340-04-09
6340-06-11
6340-08-13
6340-12-14
6340-16-15
6340-20-21
6340-24-32

6
8-10
12
14-16
18-20
25
30-32
38

114"
5/16"-3/8"
112"
5/8"
3/4"

e
1.1/4"
1.472"

9/16"-18
11/16"-16
13/16"-16

1"-14
1.3/16"-12
1.7/16"-12

1.11/16"-12

2"-12

1/8"
1/4"
3/8"
12"
3/4"
1
1.1/4"
1.1/2"

Perynupyembin TponHuk ORFS/BSP,

6oKoBOe nogknoveHune

Adjustable Run Tee ORFS/BSP

6460-02-06
6460-04-06
6460-04-09
6460-04-11
6460-06-06
6460-06-09
6460-06-11
6460-06-13
6460-08-09
6460-08-11
6460-08-14
6460-08-13
6460-12-11
6460-12-13
6460-12-14
6460-12-15
6460-16-14
6460-16-15
6460-16-21
6460-20-15
6460-20-21
6460-24-32

6
6
8-10
12
6
8-10
12
14-16
8-10
12
18-20
14-16
12
14-16
18-20
25
18-20
25
30-32
25
30-32
38

1/4"
1/4"
5/16"-3/8"
172"
1/4"
5/16"-3/8"
172"
5/8"
5/16"-3/8"
172"
3/4"
5/8"
172"
5/8"
3/4"

"
3/4"

"
1.1/4"
"
1.1/4"
1.1/72"

9/16"-18
9/16"-18
11/16"-16
13/16"-16
9/16"-18
11/16"-16
13/16"-16
1"-14
11/16"-16
13/16"-16
1.3/16"-12
1"-14
13/16"-16
1"-14
1.3/16"-12
1.7/16"-12
1.3/16"-12
1.7/16"-12
1.11/16"-12
1.7/16"-12
1.11/16"-12
2"-12

1/8 28
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

29
38
41
47
54
58
61

24
25
28
25
27
28
34
30
31
38
34
34
36
38
42
41
42
45
45
45
49

36
39
49
52
59
61
65

1 9
24
27
36
41
50
50

19
19
27
30
37
41
48

22
24
30
36
41
50
60

S

36
36
36
39
39
39
44
49
49
50
49
52
52
52
58
59
59
61
61
61
65

19
19
19
19
19
19
27
27
27
30
27
30
30
30
37
37
37
41
41
41
48

19
19
19
24
24
24
24
27
27
27
27
36
36
36
36
41
Y
Y
50
50
60

22-B



L]
ali

ainlMmM.

Perynupyembin TPOMHUK
ORFS/BSP, HnxHee
noaknyeHue

Adjustable Branch Tee ORFS/BSP

6410-02-06
6410-04-06
6410-04-09
6410-04-11
6410-06-06
6410-06-09
6410-06-11
6410-06-13
6410-08-09
6410-08-11
6410-08-14
6410-08-13
6410-12-11
6410-12-13
6410-12-14
6410-12-15
6410-16-14
6410-16-15
6410-16-21
6410-20-15
6410-20-21
6410-24-32

B . B
—
(Y9
o S |
]
2
[ mm | inch { F | T [BJC|H[]E] |
6 1/4" 9/16"-18 1/8-28 22 30 14 14
6 1/4" 9/16"-18 1/4-19 24 36 19 19
8-10  5/16"-3/8" 11/16"-16 1/4-19 25 36 19 19
12 172" 13/16"-16 1/4-19 28 36 19 19
6 1/4" 9/16"-18 3/8-19 25 39 19 24
8-10  5/16"-3/8" 11/16"-16 3/8-19 27 39 19 24
12 172" 13/16"-16 3/8-19 28 39 19 24
14-16  5/8" 1"-14 3/8-19 34 44 271 24
8-10  5/16"-3/8" 11/16"-16 1/2-14 30 49 27 27
12 172" 13/16"-16 1/2-14 31 49 27 27
18-20  3/4"  1.3/16"12 1/2-14 38 50 30 27
14-16  5/8" 1"-14 1/2-14 34 49 27 27
12 172" 13/16"-16 3/4-11 34 52 30 36
14-16  5/8" 1"-14 3/4-11 36 52 30 36
18-20  3/4"  1.3/16"12  3/4-11 38 52 30 36
25 i 1.7/16"12  3/4-11 42 58 37 36
18-20  3/4"  1.3/16"12 1417 41 59 37 41
25 i 1.7/16"-12 =411 42 59 37 41
3032 1.1/4"  1.11/16"-12 1411 45 61 41 41
25 i 1.7/16"12  1.1/4-11 45 61 41 50
3032 1.1/4" 1111612 1.1/4-11 45 61 41 50
38 1.4/2" 2752 11/2-11 49 65 48 60

23-G



[llii i press I

Il imimm.

6125

6900

KoHHekTOp ramka-wtyuep ORFS/JIC

Swivel Nut Female ORFS/JIC

6125-04-06
6125-06-09
6125-08-11
6125-10-13
6125-12-14
6125-16-15
6125-20-21
6125-24-32

6
8-10

114"
5/16"-3/8"
112"
5/8"
3/4"

e
1.1/4"
1.472"

9/16"-18
11/16"-16
13/16"-16

1"14
1.3/16"-12
1.7116"-12
1.11/16"-12
2"-12

KoHHekTop ORFS/meTpuka DIN

3852-1

KonHekTop ORFS/meTpumka DIN 3852-1

6900-10-06
6900-12-06
6900-14-09
6900-16-09
6900-16-11
6900-18-11
6900-18-13
6900-22-13
6900-22-14
6900-27-14
6900-27-15
6900-33-15
6900-42-21
6900-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16™-18
911618
11/16™-16
11/16™-16
13/16™-16
13/16™-16
1"-14
1"-14
1.3/16"-12
1.3/16™12
1.7116"12
1.7116"12
1.11/16"12
212

7/16 20
9/16-18
3/4-16
7/8-14
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

14
14
17
20
22
23
25
28

9
12

13

14

15

19
19
19
22

43
53
58
64
72
74
7

34
37
37
45
45
53
53
64
64
73
73
87
97

1 6
22
24
30
36
42
50

29
31
33
38
36
43
41

48
50
53
55

Lsii=g

22
24
30
36
41
50
60

1 7
19
22
22
24
27
30
32
36
38
Y
50
60

24-G



LA
ali

ainlMmM.

6920

6320

KoHHeKTOp yANUHEHHbIN
ORFS/meTtpuka DIN 3852-2

Long Male Connector ORFS/ Metric DIN 3852-1

6920-10-06
6920-12-06
6920-14-09
6920-16-09
6920-16-11
6920-18-11
6920-18-13
6920-22-13
6920-22-14
6920-27-14
6920-27-15
6920-33-15
6920-42-21
6920-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

Perynupyembin KOoHHeKkTOp 90°
ORFS/meTtpuka DIN 3852-3

Adjustale Elbow ORFS/ Metric DIN 3852-1

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

9
12

13

14

15

19
19
19
22

34
37
37
45
45
53
53
64
64
73
73
87
97

53
57
59
69
68
80
78

95
106
122
135

1 7
19
22
22
24
27
30
32
36
38
Y
50
60

6320-10-06
6320-12-06
6320-14-09
6320-16-09
6320-16-11
6320-18-11
6320-18-13
6320-22-13
6320-22-14
6320-27-14
6320-27-15
6320-33-15
6320-42-21
6320-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

22
22
25
25
28
28
34
34
38
38
42
42
45
49

33
37
37
40
40
45
49
50
55
56
60
62
68

14
19
19
19
19
27
27
30
30
37
37
41
48

17
19
22
22
24
24
27
27
36
36
Y
50
60

25-G



LA
ali

ainlMmM.

6270

YANVHEHHbIN perynupyemMbin

koHHekTop 90° ORFS/meTpuka DIN 3852

4

Long Adjustale Elbow ORFS/ Metric DIN 3852-1

.

6940-10-06
6940-12-06
6940-14-09
6940-16-09
6940-16-11
6940-18-11
6940-18-13
6940-22-13
6940-22-14
6940-27-14
6940-27-15
6940-33-15
6940-42-21
6940-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

Perynupyembin KOHHeKTOp 45°
ORFS/meTtpuka DIN 3852-3

Adjustable 45° Elbow ORFS/ Metric DIN 3852-1

6270-10-06
6270-12-06
6270-14-09
6270-16-09
6270-16-11
6270-18-11
6270-18-13
6270-22-13
6270-22-14
6270-27-14
6270-27-15
6270-33-15
6270-42-21
6270-48-32

6
8-10
8-10

12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
-

4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

22
22
25
25
28
28
34
34
38
38
42
42
45
49

16
19
19
21
21
24
24
26
26
30
30
32
37

57
66
72
74
75
84
88
96
100
111
115
127
142

30

34

37

44

51
53
54
57

14
19
19
19
19
27
27
30
30
37
37
41
48

14
19
19
19
19
27
27
30
30
37
37
41
48

17
19
22
22
24
24
27
27
36
36
Y
50
60

17
19
22
22
24
24
27
27
36
36
Y
50
60

26-G



r".!"!"lll

Jliigd y/press ".

L]
ali

ainlMmM.

6420

6470

Perynupyembin TPOMHUK
ORFS/meTtpuka DIN 3852-4, HnxxHee

Adjustable Branch Tee ORFS/ Metric DIN 3852-1

6420-10-06
6420-12-06
6420-14-09
6420-16-09
6420-16-11
6420-18-11
6420-18-13
6420-22-13
6420-22-14
6420-27-14
6420-27-15
6420-33-15
6420-42-21
6420-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

Perynupyembin TPOMHUK
ORFS/meTtpuka DIN 3852-4, 6okoBoe

Adjustable Run Tee ORFS/ Metric DIN 3852-1

6470-10-06
6470-12-06
6470-14-09
6470-16-09
6470-16-11
6470-18-11
6470-18-13
6470-22-13
6470-22-14
6470-27-14
6470-27-15
6470-33-15
6470-42-21
6470-48-32

6
6
8-10
8-10
12
12
14-16
14-16
18-20
18-20
25
25
30-32
38

114"
114"
5/16"-3/8"
5/16"-3/8"
112"
112"
5/8"
5/8"
3/4"
3/4"
=
4
1.1/4"
1.472"

9/16"-18
9/16"-18
11/16"-16
11/16"-16
13/16"-16
13/16"-16
1"14
1"14
1.3/16"-12
1.3/16"-12
1.7/16"-12
1.7/16"-12
1.11/16"-12
2"-12

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

M10X1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

22
22
25
25
28
28
34
34
38
38
42
42
45
49

22
22
25
25
28
28
34
34
38
38
42
42
45
49

B

33
37
37
40
40
45
49
50
55
56
60
62
68

14
19
19
19
19
27
27
30
30
37
37
41
48

17
19
22
22
24
24
27
27
36
36
Y
50
60

33
37
37
40
40
45
49
50
55
56
60
62
68

14
19
19
19
19
27
27
30
30
37
37
41
48

17
19
22
22
24
24
27
27
36
36
Y
50
60

27-G



r".!"!"lll

Jliigd y/press ".

Il imimm.

6840

KoHHekTop ORFS/meTpuka ISO

6149-2

Male Connector ORFS/ Metric ISO 6149-2

@ tube
part number -

6840-10-06
6840-12-06
6840-12-09
6840-14-06
6840-14-09
6840-14-11
6840-16-09
6840-16-11
6840-18-09
6840-18-11
6840-18-13
6840-22-09
6840-22-11
6840-22-13
6840-22-14
6840-27-11
6840-27-14
6840-27-15
6840-33-14
6840-33-15
6840-33-21
6840-42-21
6840-42-32
6840-48-32

6
8-10
6
8-10
12
8-10
12
8-10
12
14-15-16
8-10
12
14-15-16
18-20
12
18-20
22-25
18-20
22-25
28-30-32
28-30-32
35-38
35-38

1/4"
1/4"
5/16"-3/8"
1/4"
5/16"-3/8"
172"
5/16"-3/8"
172"
5/16"-3/8"
172"
5/8"
5/16"-3/8"
172"
5/8"
3/4"
172"
3/4"

1
3/4"

1
1.1/4"
1.1/4"
1.1/72"
1.1/2"

9/16"-18
9/16"-18
11/16"-16
9/16"-18
11/16"-16
13/16"-16
11/16"-16
13/16"-16
11/16"-16
13/16"-16
1"14
11/16"-16
13/16"-16
1"14
1.3/16"-12
13/16"-16
1.3/16"-12
1.7/16"-12
1.3/16"-12
1.7/16"-12
1.11/16"-12
1.11/16"-12
2"-12
2"-12

M10X1
M12x1,5
M12x1,5
M14x1,5
M14x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M27x2

M33x2

M33x2

M33x2

M42x2

M42x2

M48x2

9,8
9,8
11,2
9,8
11,2
12,8
11,2
12,8
11,2
12,8
15,5
11,2
12,8
15,5
17,0
12,8
17,0
17,5
17,0
17,5
17,5
17,5
17,5
17,5

11
11
11
11
11
13
13
14
14
14
15
15
15
15
18
19
18
19
18
18
19
19
21

29
34
30
31
35
34
37
35
37
41
38
39
42
50
44
49
54
50
52
54
55
60
57

WA,

17
19
19
19
22
22
24
24
24
27
27
27
27
32
32
32
41
41
41
46
50
55
55

st
'd_'l._-."r

28-G



ik ypress [/ L Y ]| Tl MM

6600 3arnywka HapyxHas pe3bba

Male plug

part number

6600-06 9/16 - 18
______
6600-11 13/16 - 16
______
6600-14 1.3/16 - 12
______
6600-21 1.11/16 - 12

6610  3arnywka HakuaHas ranka

Female Plug Swivel

part number

6610-06 9/16 - 18
_——___
6610-11 13/16 - 16
_——___
6610-14 1.3/16 - 12
_——___
CbeMmHas 2alika 6610-21 1.11/16 - 12

Crowmoas 0% 22 m e

Fluid Power Care 29-G IMM Group



Mt ypeess ||| S TR ||| 1l MM,

Fluid Power Care 30-G IMM Group



